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1.

12,

Immediately after getting the booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the
right hand side, unless asked by the Invigilator.

Write your Roil No., Answer-Sheet No., in the specified
places given above and put your signature,

Make all entries in the OMR Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.

After Opening the seal, ensure that the Question
Booklet contains total no. of Pages as mentioned
above and printing of all the 150 questions is proper.
If any discrepancy is found, inform the Invigitator
within 16 minytes and get the correct Question
Booklet.

White answering the question from the Question Booklet,
for each
options out of foyur against that option in the OMR Answer
Sheet, bearing the same serial number of the question.
Darken the cirgle only with Black or Blue ball point pen.

Darken the circle of correct answer properly otherwise
answers will not be evaluated. The candidate will be fully
responsible for it.

There are 150 objective type questions in this Question
Booklet. 1 mark is allotted for each correct answer.

No negative marking will be done.

Do not write anything anywhere in the Question Booklet
and the Answer-Sheet except making entries in the
specified places, otherwise OMR sheet will not pe
evaluated.

After completion of the €xamination, only OMR Answer
Sheet is to be handed over to the invigilator, Carbon copy
of the Answer-Sheet and Question Booklet may be taken
away by the examinee.

This Question Paper consists of three parts :~

(i) First Part - PHYSICS —1-50
(i) Second Part : CHEMISTRY —51-100
(ii)  Third Part (A) MATHEMATICS —101-150
OR
(B) BIOLOGY
(i) Botany —101-125
(ify Zoology —126-150

Part First & Second are compulsory. Candidates should
attempt ANY ONE PART from Thirg Part (A) and (B)

In case of any ambiguity in English version the Hindi version
shall be considered authentic.
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PART—I / srer—I
Physics / sifas e

nfadter R &t A 2
A M

B) m2T342
©) mL'T2

(D) 3otH & oIF &l

TP IV WevEl A 39 uor aifaefier @
& swer feuos bl o t W
s=13 -6 + 3t+ 4 1ft. 1 39 BT BT AT

1 g STafd Fawor e 72
(A) 3 ms™! (B) -12ms™
(C) 42ms™ (D) -9ms™

2 gerfe se R & 0.1 .. gemmar &
&t sor & uf-awa e welfa 2
t = 2 sec Y¥ 3HTI3T ST 71 &

X (m)

NSO

————>t(sec)

(A) 0.2 kg. m.sec™!
(B) -0.2 kg. m. sec™’
(C) 0.1 kg.m.sec™!
(D) -0.4 kg. m.sec™!

1.

Dimension of resistance R is
(A mer

(B)  mi2T3A2

©) M7

(D) None of these

A particle moves along a straight
line such that its displacement at
any time t is given by

s=R -6 + 3t+ 4 metres

The velocity when the acceleration is
zero is .

(A) 3 ms™ (B)
(C) 42 ms™! (D)

-12ms™
-9 ms™!
In the figure give below the position-
time graph of a particle of mass
0.1 kg is shown. The impulse at
t =2 secis

X (m)

6

4

2

bt >t (sec)

(A) 0.2 kg. m.sec™
(B) -0.2 kg. m.sec™’
(C) 0.1 kg.m.sec™?
(D) -0.4 kg. m.sec™"

% %1 & ¢ S8 / SPACE FOR ROUGH WORK
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S F = 4x3/N GSRICS SO B x =0 &
x = 2 % fazenfia o= & fbar s ot
3

(A) 09 (B) 49«

(C) 16 3@ (D) 256 =

eftsr DI & oy W IHeda &y 6
dftrar @

(A) Gmir?

B g

(C) zero

(D) %er A BIF arat

10 f.am. gemmar & v R @1, sad!
3141 & ufla srseq smget 160 f&b.am. .2

21 3 ol oo @
(A) 10 . (B) 8 .
(C) 6 . (D) 4 .
a3 Rseft uars o1 gofar o1t 73, ot et
ot frafaflaa & & fbue et ?
(A) 1 (B) —1*2“
T T
2
© 7= D)y T3

m GeATS & bt ST BT IFTIT 9T THD

AT 3

The work done by a force
F = 4x3iN

in displacing a particle from x=0 to
x=2is

(A) 0 Joules (B) 4 Joules

(C) 16 Joules (D) 256 Joules

What is the intensity of gravitational
field at the centre of a spherical
shell?

(A) Gmir2

B) g

(C) zero

(D) None of these

A wheel of mass 10 kg has a moment
of inertia of 160 kg-m2 about its own
axis. The radius of gyration is
(A) 10m (B) 8m
(C) 6m (D) 4m

In a satellite if the time of revolution
is T, then kinetic energy is
proportional to

1 1
A 7 ® =
2

(C) (D) T3

T3
The escape velocity of a particle of
mass m varies as

(A) m? (B) m (A) m?2 (B) m

(C) m?O (D) m! (C) m?O (D) m1
T %1 & oI g / SPACE FOR ROUGH WORK
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10.

11.

gerfe o Ry & fa5eft vwomrer vaar aw &
@ Al aml 7, a1 7, woRwm F &
SR @raTs § ufvadar x ugf3fa }1 ufradsr
gerfar B f&

F
TZ

T,

X
(A) T1 >T,
(B) T, < T,
© Ty = T,
(D) wordt A BIF Tdl
af% et g o & wft stw &7 a9 1°C
9T W IS 319 ¥ i3 0.4% Bt 2, A
IR a1g ger aiRe
(A) 250K (B) 250°C
(C) 2500 K (D) 25°C

foeft 9 @1 spw 44 2 T W S

2.2 3T AT GRT 0°C U9 2 aguvsdly
Q19 9T BT STAT 3ITIaeT gYom

(A) 0.56 dftex
(B) 1.2 #fter
(C) 2.4 dftex
(D) 5.6 #tez

10.

11.

The diagram shows the change x in
the length of a thin uniform wire
caused by the application of stress
F at two different temperatures T,
and T,. The variation suggests that

F
T2
Ty
X
A) T,>T,
B) T,<T,
C) T,=T,
(D) None of these

If the pressure of a gas contained in
a closed vessel is increased by
0.4% when heated by 1°C, the
initial temperature must be

(A) 250K
(C) 2500 K

(B) 250°C
(D) 25°C

The molecular weight of a gas is
44. The volume occupied by 2.2 g
of this gas at 0°C and 2atm
pressure will be

(A)
(B)
(C) 2.4 litres
(D) 5.6 litres

0.56 litre
1.2 litres

T %R % fTU ST / SPACE FOR ROUGH WORK
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12.

13.

14.

15.

16.

af¢ faseft st 6t varasy B £ @1, a sadt
fafdre 3wm3it o1 g Cp/Cy, Fom

2

2
() 1 ® 1-7

1
(€) 1“7
v fgaaoys 34 ot fRR g19 W onf e
SITAT B1 AT oIl BT DIl AT 32A IHGY
3afes Fort # gfyg ot § WY qen?

1+% (D)

(A) (B)

(C) (D)

P g W f&ft smgef s\ =1 BFw

TIAS ARy dT 3OS 8

A P (B) 2P
) PR2 (D) 2/P
1 fafrer ugraf & e arewaT IpoTE! B

a5 4 21 3G 5o wgref 3t 53
foreret sty ufveds dhrwe wamer §, ol
o1 Sula nfRiy wwrew 3, @ 3adt

a3 BT AT gen

A) 4:5 (B) 9:1

C) 1:9 (D) 5:4

AfY v oW v & A F 50% H g
& oY a9 A st fafdeor & oo §
gfes gft

A) 125% (B) 200%
(C) 300% (D) 400%

12.

13.

14.

16.

16.

If the degree of freedom of a gas is
f, then the ratio of two specific heats
Cp/Cy, will be

2 2

A F+ ® 1-7
1 1

© 147 @) 1-7

A diatomic gas is heated at constant
pressure. What fraction of the heat
energy is used to increase the
internal energy?

A S B =
Az B) 3
5 5
© 3 D 3
The adiabatic bulk modulus of a

perfect gas at pressure P is given
by

A P
(C) PI2

The ratio of thermal conductivities of
two rods of different materials is
5:4. The two rods of same area of
cross-section and same thermal
resistance will have the lengths in the
ratio

(A) 4:5 B) 9:1

< 1:9 (D) 5:4

If the temperature of a hot body is
increased by 50%, then the increase
in the quantity of emitted heat
radiation will be

(A) 125%
(C) 300%

(B) 2P
(D) 2/P

(B) 200%
(D) 400%

% %1 & ¢ S8 / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A
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17. 5@t e & we smad afd $W @
&7 6 ngaw a1 31.4 A /A B P
e &t amgfr R

(A) 3Hz (B) 2Hz

(C)  4Hz (D) 1Hz

18. v® geam= m R § R s s
A T ATY A 3ad arfer o2 3T 2l feg P

BT 3T 3
Ky ko
5 m
kA kA
(A) k, (B) k,
kA koA
€ k+k, ®) Kk +k,

19. n Mg 1 vE Ha 5 fvusg/A. qa1 ],
59 g Agfe 200 s~ & WY woraT B
s dardt (2n) 10 Reeeg/A. a1 B,
o1q 9% 3Mgfy 420 s~ & ATy weran 8, At
n SR §

(A) 200s!
(B) 205s~1
(C) 195s~1

(D) 210s™

17. A particle executing simple harmonic
motion of amplitude 5cm has
maximum speed of 31.4 cm/s. The
frequency of its oscillation is

(A) 3Hz (B) 2Hz
(C) 4Hz (D) _1Hz
18. The mass m shown in the figure

oscillates in simple harmonic motion
with amplitude A. The amplitude of

the point P is
Ky ks
SALLLES i
o A o kA
A ® %
kA k,A
©) Kk, ©) Y, +k

19. A source of frequency n gives
5 beats/s, when sounded with a
source of frequency 200s~!. The
second harmonic (2n) gives
10 beats/s, when sounded with a
source of frequency 420 s, then n
is equal to

(A) 200s™
(B) 205s~!
(C) 195s"
(D) 210s™

% %R & oY 578 / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A
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20. fdaewr & fore Fe1 o7 fapefte de o

21.

22,

(Sraz4T) $I gaT A UBil & 3G & FART
g &t bt & wisrd

(A) 3felea & SITgem
(B) ®=em
(C) eam
(D) arafafefa Rem

@ ar & W vt § feft 9 F o

wagHt ¥ i averded $ o 0.025%
Rewrear 21 gfte ¥am & an @1 d91 Gen

(A) 2.5x10%m/s
(B) 4.5x10%m/s
(C) 7.5x10%mi/s
(D) 9.5x10%mi/s

vE 20 #ft. Bioa gft o1 sde dF @
ATAA qUYT T ATY HYS # 3T 51T, dt 98
39 B9 A B Bem

(A) 10 #ft. Biow gft &1 39 gdor
(B) 10 # . wiea gl @1 sraaw gowr
(C) 40 Aft. wiww gt o1 srader guor
(D) 40 adt. wiow gft o1 Fa gor

20. A Young's double-slit set-up for

21.

22

interference is shifted from air into
water, then the fringe width

(A) becomes infinite
(B) __decreases .
(C) increases

(D) remains unchanged

The spectral line for a given element
in the light received from a distant
star is shifted towards longer
wavelength side by 0.025%. The
velocity of star in the line of sight is

(A) 2.5x10%m/s
(B) 4.5x10%m/s
(C) 7.5x10%m/s
(D) 9.5x 104 m/s

A concave lens of focal length 20 cm
placed in contact with a plane mirror
acts as a

(A) convex mirror of focal length
10cm

(B) concave mirror of focal length
10 cm

(C) concave mirror of focal length
40 cm

(D) convex mirror of focal length
40 cm

% %1 & ¢ 7§ / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A

gcollegedunias



23.

24.

25,

26.

TS 6° PO BT TaaT o0 3° &7 Raas
a1 }1 fiom & uqre @7 sryadaie 3

A) 1.2 (B) 1.1
(C) 1.3 (D) 1.5

gd # waTer a7 der 1.5 x 108 /R, wa
gaT & 3A@T a9 3 x 108 /R B AR
o1 feor g & A gar & apw @ 3, @
wifa® Bivr e

(A) 60° (B) 45°
(C) 30° (D) 10°
vs gfie QN aren eafds Rrrer o o1

fag 100 @ ft. 3, 25 At Ht P w ve
YA TGl ATEAT 81 3TALAS A St 4ra
aeft

(A) 2D (B) 3D

(C) 5D (D) 7D

e genedt & smaes gmar Bt so ¥

fere

(A) sifigeas ve AffeT & Brow emar
SATGT §=T wifdy

(B) ¥figeam & on wiow gft qur
e & Samgr e wifde

(C) Q=i & Biovw gt wergT grerr Wy

(D) figeIs =1 SameT Blew gt vd
AT BT 37 gam Tifte

23.

24,

25,

26.

A thin prism of 6° angle gives a
deviation of 3°. The refractive index
of the material of the prism is

A) 1.2 B) 11
(C) 1.3 (D) 1.5
Velocity of light in a liquid is

1.56x108m/s and in air it is
3x108m/s. If a ray of light passes
from liquid into the air, the critical
angle will be

(A) 60°
(C) 30°

(B) 45°
(D) 10°

A hypermetropic person whose near
point is at 100 cm wants to read a
book at 25 cm. The power of lens
needed will be

(A) 2D (B) 3D
(C) 5D (D) 7D

In order to increase the magnifying
power of a microscope

(A) The focal powers of the
objective and eye-piece should
be large

(B) Objective should have small
focal length and the eye-piece

large

(C) Both should have large focal

lengths
(D)

The objective should have
large focal length and eye-piece

should have small

% R % foTt T8 / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A
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27,

28.

29.

30.

31.

v 4Tq Aag & oy Bidsafas o1 vas
4.125 eV 31 Adg & fow o3 averded
ghem

(A) 4125 A (B) 2062 A
(C) 3000 A (D) 6000 A
ETS3ISTeT URHTY] BT JAS He 3GeT (I3
#ee) # FHa1f —13.6 eV 1 Feort w1 forasr
FieH TTIAT 3 & BT Foll glem

(A) —13.6eV (B) -3.4eV
(C) -2.5eV (D) -1.51eV

YsTar o1 3ref 3y 3.8 a1 }1 15 fieflerm
Ysfar &1 faem ufmmor 30 Rt & 919
Ao ?

(A)
(C) 0.28 mg (D) 0.38mg
aiftrftar foesar & 0.1% geamter St #
ufeafda grar 21 1 e geomer & frsar
A g € arelt Ssorf gioft

(A) 9x1013) (B) 9x1016y
(C) 9x107J (D) 9x1019)
e, tfaTere va puree ot afefd el
Jaua $A: EG,, EG, w@ EG; §, @t
$o AG g

(A) EG,=EG,=EG;,

(B) EG,>EG,>EG,

(C) EG4<EG,<EG,;

(D) EG,<EG,>EG,

1.4 mg (B) 0.014 mg

27.

28.

29,

30.

31.

The photoelectric work function for a
metal surface is 4.125 eV. The cutoff
wavelength for the surface is

(A) 4125A (B) 2062 A
(C) 3000A (D) 6000 A

The energy of hydrogen atom in its
ground state is -13.6eV. The
energy level whose quantum number
is 3 will be

(A) -13.6 eV
(C) -2.5eV

-3.4eV
-1.51eV

(B)
(D)

The half-life of Radon is 3.8 days.
How much quantity of 15mg of
Radon will remain after 30 days?

(A) (B) 0.014 mg
(C) 0.28 mg (D) 0.38mg

1.4 mg

In nuclear fission 0.1% mass is
converted into energy. The energy
released by the fission of 1 kg mass
will be

(A) 9x1013J
(C) 9x10"7y

(B) 9x1016y
(D) 9x1019%y
The forbidden energy band gap in
conductor, semiconductors and
insulators are EG,, EG, and EG,

respectively. The relation among
them is

(A) EG,=EG,=EG,3
(B) EG,>EG,>EG;
(C) EG,<EG,<EG,4
(D) EG4<EG,;>EG,

6 %1 & ¢ g / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A

gcollegedunias



32.

33.

34.

Rifersiar p—n @fer & srer v yow aifiera
# 3T argd S A B e wureht ufenr
3

(A) a1 afdea # srvyggsr v 9oy
_3if3era # fawam

3131 3if¥erar # fawreor va v sifdrera
T 3qage

33T va Y ifirera =i F Rrawor
39T va 929 3if¥era et # sraager

T TN I3 B TS 3rHT T
% @ o R | 9% ya B

VP S eq 3Tyl ardt
TP S UF Seamgof

a1 & e o § sesmgf
VP TASNTYO Weg el TEl

(B)

(C)
(D)

(A)

(B)
(C)

(D)

qedt & qratar @ & et (1) v seatew
(V) Teat & e & wdt w2

A) B=

S oII<

(B) B=

|B|=\V2+ H?

B=H+V

H

(©)

(D)

32.

33.

34.

The dominant mechanisms for
motion of charge carriers in forward
and reverse biased Silicon
p—n junction are

(A) drift in forward bias
diffusion in reverse bias

and

diffusion in forward bias and
drift in reverse bias

(B)

diffusion in both forward and
reverse bias

(C)

(D) drift in both forward and reverse

bias
A magnetic needle is kept in a non-
uniform magnetic field. It experiences
(A) a force but not a torque
(B) a force and a torque
(C) neither a force, nor a torque

(D) a torque, but not a force

The correct relation between
horizontal (H) and vertical
components (V) of earth's magnetic
field is

(A) B=

< 1I<

B=V-H

|B|=+V?+ H?

B=H+V

(B)

(C)
(D)

0129/UE-PHT/PP-E/5-A
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35.

36.

WASAYd® @cs grad BT Aaderd
forsfz =it wear 3

(A) gro H raE ©

(B) @ & gauracy W

(C) ygedtd gradla & & s wed W
(D) wEPIY I GTst Bt T W

—Q ¥ TR TR AT & TP Tof & TR
IV 9T TET 9T § UF U 1A g a9 B
deg w21 IR Prom AR &, at g
BT AT gom

(A) _%(1+2\/§)
(B) %(1+2\/§)
©) —523-(1+2«/§)

(D) %(1+2\/§)

37. Avd B3 e gea enfyar B

_[ c ¢ ¢ |
A o— {F {} | F—— —
B o

C 3C
® ®

C 4C
© 3 © 5

35. Time period of a freely suspended
magnet does not depend upon

(A) length of the magnet
(B) pole strength of the magnet

(C) horizontal  component  of
earth's magnetic field

(D) length of the suspension
thread

36. Four charges equal to -Q are
placed at the four corners of a
square and a charge q is at its
centre. If the system is in equilibrium
the value of q is

A) —%(1+2x/§)
(B) %(1+2«/§)
() —%(1+2«/§)

(D) %(1+2\/§)

37. The equivalent capacitance between

A and B is
| ¢ ¢ ¢ ¢ |
Aol T T i
Bo | i
C 3C
A 7 B) -
C 4C
© 3 D) 5

@ w1 & oW smg / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A
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38. @ gugd wurfer 6 @t B wex vw
RIEYA e T3 SIRT ST1er 1 AeF B
g o a1 T
(A) wgam
(B) s
(C) =¥ ufeadar sdf dromr

(D) o= gt

39. WP 2uF ©d 1uF Herfy w smaer o
e BT ( uC #F) g

Z”F\/\, 2pF
1uF
L - —
2V

A) 1,2

(B) 2 1

C) 1,1 (D) 2,2

40. 3=ft wrere @1 ufAe 50°C W5Q vd
100°C W 6 Q B soa1 nfadter 0°C w3 2

38. A dielectric slab is inserted between

39.

40.

the plates of an isolated capacitor.
The force between the plates will

(A) increase
(B) decrease
(C) remain unchanged

(D) become zero

The charge in any one of the 2uF
capacitors and 1uF capacitor will be
given respectively (inuC) as

ZHF\/\, 2uF

A) 1,2 B) 2,1

€) 1,1 (D) 2,2

The resistance of a conductor is 5O
at 50°C and 60O at 100°C. Its
resistance at 0°C is

A 1Q B) 20 A 1Q B) 2Q
(C) 30 (D) 40 - (C) 30 (D) 40
% % % foTu STE / SPACE FOR ROUGH WORK
0129/UE-PHT/PP-E/5-A (13) [ P.T.O.
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41. fiu ot uftuy # Regent A v B & wex
wurdt uferdter

D
30
~ 30
A _
C
i 60
30 30
B
A) 5Q B) 2Q
(C) 3O (D) 4Q
42. fu oo ufray # e &1 A1 3
10Q 5V
AMA— 1
2V
—} ~ANW
20Q
(A) 01A (B) 0.2A
(C) 03A (D) 04A

43, AB voaENTS UfAY o1 aR B SAedeite

G # ot gt aff g @ ? .
AC = 20 &ft. va CB = 80 @ft. B uferter

R &1 A1t ?
R 80 Q
A ci B
v
A) 20 (B) 8Q
(C) 200 (D) 40Q

41.

42,

43.

The effective resistance between the
points A and B in the figure is

D

3Q
,\i\[\/\h3Q

C

3Q

3Q
B
A) 5 Q B) 2Q
€) 3Q (D) 40Q
The current in the given circuit is
100 5V
——AWA- |
2V
{— AWV
20Q
(A) 01A (B) 0.2A
(C) 03A (D) 04A

AB is a wire of uniform resistance.
The galvanometer G shows no
current when the length is
AC=20cm and CB=80cm. The
resistance R is equal to

A o . B
Ii 2V

A) 2Q (B) 8Q

(C) 20Q (D). 40Q

O %1 % f g / SPACE FOR ROUGH WORK
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44. vP geq $t MeeT 1 KW Td 250 V | wvw
o1 wfede

(A) 125Q (B) 62.5Q
(C) 0250 (D) 6250
45. Y g o iy # deg O R padia o1 |
B &7 a1t glem
R |n/2
I
=

ol ol
A 5 ® Sp

2o il
© "R ®) R

46. US Ieaie? ar & 4T B $ av varfdd
& %t 31 vo s gUs B AR H We
Gffst 7 & A4S It W, ag gIem

(A) it avw (B) & &
(C) IR 3k (D) MR Ft ax
47. ©F 2 MeV el a1dT Mo 2.5 ST B

vEHATS St G5 7 ey SR wawr
BT ¢, af TeTs U @91t aTelT & &

(A) 2.5x1071ON
(B) 7.6x10-1N
(C) 25x10~1N
(D) 7.6x10712N

44,

45.

46.

47.

A bulb is rated 1 kW and 250 V. The
resistance of bulb is

(A) 125Q
(C) 0250

(B) 62.5Q
(D) 625Q

In the figure below, the magnetic
induction B at the centre O is

/2

Hol bl
A 2 B S5
il 3pol

A vertical wire carries a current in
upward direction. An electron beam
sent horizontally towards the wire will

be deflected
(A) towards right (B) towards left
(C) upwards (D) downwards

A 2 MeV energy proton is moving
perpendicular to a uniform magnetic
field of 2.5 Tesla. The force on the
proton is

(A) 2.5x10°10N
B) 7.6x10""N
(C) 25x1071N
(D) 7.6x10"12N

% SR & fU S8 / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A
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48.

49,

50.

s e errard aee, St R R e
BeaT & vd Rrrd toan Juey Fie i
B a 3, & BRU Iug TEE G
wgf3fa gt 2

BA
(A) i} :
(B) Bﬂ'""kﬁr
a
a
(D) " AN r

v i @ B # afgy dvwa
A & TR TEHT FP ?

(A) BxA (B) AB
B
(C) B-A ()
vs Iwrft grasn St mufie v fadtas

PUseital o1 3gard 1: 10 } aur mufis
Peeft # diwear 230 dtee R | AR 7S omr

o1 a4 2 URRR &, a mufde eelt §
emT &

(A) 20A
(C) 2A

(B) 10A
(D) 1A

48.

49.

50.

The magnetic field due to a straight
conductor of uniform cross-section
of radius a and carrying a steady
current is represented by

(A) b i'} .

(B) \Ar
© | T\ g

B

© | N\

>

The magnetic flux linked with a

vector area A in a uniform

magnetic field B is

(A) BxA (B) AB

. B
© B.A @) —

In a step-up transformer, if ratio of
turns of primary to secondary is
1:10 and primary voltage is 230 V.
If the load current is 2 A, then the
current in primary turn is

(A) 20A (B) 10A

(C) 2A (D) 1A

% %E & fow S8 / SPACE FOR ROUGH WORK
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PART—II / srer—li
Chemistry / @™« a1

51. 5s a9 3d seat § Hrfta Nzt g

HHIA: T
(A) 5,0 (B) 5,1
(C) 4, 0 (D) 4,1

52. #-seeft aver wltewor &1 At G o B

2 2
A) Tg—asam (B) %asam
(©) %%m (D) vA & @RI

53. Hg,Cl, & steftar forerret o1 aree 576 Ivis
2 (o= 1 Hg,,Cl, 90% 3mersfipa gtar

?)
(A) 2.6 (B) 2.8

(C) 37 (D) 27

54. forr § fbarer fqga smyef Faffes 32

51.

52.

53.

54.

The number of radial nodes of 5s
and 3d orbitals are respectively
(A) 50 (B) 5,1

(C) 4,0 (D) 4.1

Velocity of the de-Broglie wave
equation is given by

mc? c?
(A) - (B) "
hv
(C) oy (D) vA

Van't Hoff factor of Hg,Cl, in its
aqueous solution (Hg,Cl, is 90%
ionized in the solution) is

(A) 26 (B) 2.8

(C) 37 (D) 2.7

Which of the following has maximum
dipole moment?

(A)  NH, (B) NCl, (A) NH, (8) NCl,
(C) NBry (D) Nl (C) NBr, (D) NI,
T %R % foTT S8 / SPACE FOR ROUGH WORK
0129/UE-PHT/PP-E/5-A (17) [P.T.O.
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55. AB, U@ 31, ! A= NaCl &t a3 7l
afe A* smrer $t s 130 pm & df B-

3 & siftrean Brear (werser) gsft
(A) 178 pm (B) 180 pm
(C) 318 pm (D) 314 pm

56. wif3em eng BCC voo A« # g 2
wiftam & formean wameit & dtw &t gh
0.368 nm 2| To® A & fbamy $t s
?

(A) 0.425 nm (B) 0.575 nm

(C) 0.682 nm (D) 0.184 nm

57. 226Ra, & (3r#ary = 1620 ay) foaa

G SR o fiefiag®t afdaar defto
(A) 0.01amm (B) 0.001 arm
(C) 01sm (D) 1.03mMm

58. v® Iatenfi s & sfang 2xadf d1 X

aef wouTd A BT feeT STt 314y R ?
1
A V2 ® T3
1
© 75 (D) 3

55.

56.

57.

58.

A solid AB has the NaCl structure.
If radius of the cation A* is 130 pm,
the maximum value of the radius
of the anion B~ will be (approx)

(A) 178 pm (B) 180 pm

(C) 318 pm (D) 314 pm

Sodium metal exists in BCC unit
cell. The distance between nearest
sodium atoms is 0.368 nm. The
edge length of the unit cell is

(A) 0.425 nm (B) 0.575 nm
(C) 0.682 nm (D) 0.184 nm
What mass of 226 Ra, whose

ti0 = 1620 yrs, will give the activity
of 1 millicurie?

(A) 0.01g
(C) 0.1g

(B) 0.001g
(D) 1.0g

Half-life of a radioactive sample is
2X years. What fraction of this
sample will remain undecayed after
X years?

1

® 2 ® 7
1

© NG

W &M & ¢ "' / SPACE FOR ROUGH WORK
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59. @ KOH &t 5Ier # fder e § at ooar

60.

61.

Ieafefa @dt B1 It a9 ot sema 2, &t
KOH &t faererar

(A) wodt R
(B) wedl @
(C) @mm Tgdt B
(D) «i#f war wod

2x102 M NH,CI (pK, = 4.73) iefig
faeras o1 pH Ater glom

(A) 5.48
(B) 3.78
(C) 7.00

(D) 4.73

1M NaOH &Rt 1 MHCI daar 1 M
H,SO, & #aTeT 3merdel BT Igrftefteaor
fom srom Rt wwer: a aur b kJ FEAT
Jeafsfa g¥| foner & & St 71wty Wt
22

b
A) a=3

B) a=2b
(©)

(D) a=4b

59.

60.

61.

When KOH is dissolved in water,
heat is evolved. If the temperature is
raised, the solubility of KOH

(A) increases
(B) decreases
(C) remains the same

(D) cannot be predicted

The pH of 2x102M NH,CI (aq)
(PK, = 4.73) is equal to

(A) 5.48
(B) 3.78
(C) 7.00

(D) 4.73

Equal volumes of 1MHCI and
1M H,SO, are neutralized by 1 M
NaOH where a and b kJ equivalent
of heat are liberated respectively.
Which of the following relations is
correct?

b
(A) a =-2—

B) a

(C)

2b

I

a=>b

(D) a=4b

0129/UE-PHT/PP-E/5-A
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62.

63.

64.

65.

298K a9 W Iiadlerer A sieier #
ufvadsr & v AG® @1 7197 B

%02(9)=03 (9)

R} Kp @1 " gu afads & fre
2.47x10729 %

(A) 326.46 f&.5/mte
(B) 489.69 f&.5y/mwm
(C) 163.23 f&.5miw
(D) 190.32 fb.5ymie

v wyw ife sifirfdsen $ srefany 30 fiere
21 300 firre # arfrfisa o1 e ufdrera
ot §em?

(A) 80% (B) 90.9%
(C) 99.9% (D) 75%
ufvesfera sififar A + 2B - 3C & fore

R form afiifdanm Rate = & [A)2 [B]2 21
afd srcafdes aom # 'A' sufRE R, @

Jfirfda &t ife gsft
A) 3 (B) 25
(C) 05 (D) 2

faga $t q1-%2 v CusO, e A
It 31 eME W Cu $t woft g g
?

(A) 635¢g
(C) 127¢

(B) 31.75¢g
(D) Og

62.

63.

64.

65.

AG® for the conversion of oxygen to
ozone is

3

Eoz(g)—\\.._._o:,,(g) at 298K,
if Kp for this conversion is
2.47x10"29 is

(A) 326.46 kdimol
(B) 489.69 kJ/imol
(C) 163.23 kJ/imol

(D) 190.32 kJd/mol

Half-life of a first order reaction is
30 minutes. What percentage of the
reaction will be completed in 300
minutes?

(A) 80% (B) 90.9%

(C) 99.9% (D) 75%

The rate law expression for the
hypothetical reaction A +2B - 3C is
Rate = k [A]” [B]. If 'A' is present
in excess, then the order of reaction
is

(A) 3 (B) 2.5

(C) 0.5 (D) 2

Two-faraday of electricity is passed
through a CuSO, solution. Then
mass of Cu deposited at anode is

(A) 6359 (B) 31.75¢g
(C) 127¢ (D) Og

% %1 % ¢ S8 / SPACE FOR ROUGH WORK
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66. NaCl, HCI vd@ CH,COONa & fere #iarea
IS ATerdal HHA: 126.4, 425.9 T&
91.0 s-cm?-mol~' &1 0.001 M
CH,COOH et & arTv[e areraa &t
arore Fiferel

(A) 390.5 s-cm2-mol-’
(B) 643.3 s-cm2-mol!
(C) 508.5 s-cm2-mol"

(D) 48.1 s-cm2-mol*!

67. W& Y= Bt Yhre

(@) ZSM-5 &1 3IqAleT Uedlgidr @t
sttt & sgest ¥ fore b simar
2l

(b) 2.5 sites =, 31 T BT FGawiat
faerr= 21

(c) SDS &1 Iuier fIesise § w2 g
(d) WIeST UeITgH ATeclst ot Agter &

66.

67.

Limiting molar conductivity for NaCl,
HCI and CH;COONa are 126.4,
4259 and  91.0 s-cm2-mol™"
respectively. Calculate molar
conductivity of 0.001 M CH,COOH
solution.

(A) 390.5 s-cm2-mol!
(B) 643.3 s-cm2-mol-"!
(C) 508.5 s-cm2-mol!

(D) 48.1 s-cm2-mol"

Choose the correct statements

(a8 ZSM-5 is used to convert
alcohol to gasoline.

(b) 2.5 Gold no. is Iyophilic
solution of potato starch.

(c) SDS is used for detergent.

(d) Maltase enzyme converts
‘maltose into mannose.

g B A (@), (d)
A a), (d
A (), (d) 8 ©. ©
B (b), )
C , (b
© @, €) (a), (b)
© (@, (© B @ ©
% %1 & T S / SPACE FOR ROUGH WORK
0129/UE-PHT/PP-E/5-A (21) [ P.T.O.

gcollegedunias



68. ¥Ht-1 ot gft-11 A gAfera = af s gfere

-1 -1
(a) 3[BT &= (i) ZnO.CaO
(b) astafter (i) AgNO;
(c) TR ®IRES  (jii) Cu(CH,CO0),.
Cu(OH),
d) fed &1 (iv) CuFeS,
a b c d
(A @) () (i) (v)
(B) (v) (i) (i) ()
(C) @) @v) @) (i)
(D) @@ @) (i) (v)
69. for=r # olar & wuw aft T2
1. 3yfesi & ®u i FeO wd@ CuO =t

2. TdRE A ¥ 673-973 K aTamH
¥ 3rqgIe 3

3. =we Befdt § 1773 K W urg e
SoraT B

4. Ahqg T die $ FokaT 400 fFaa
et 3

A 1,2, 4

(B) 1,3, 4

(C) 2, 3,4

D) 1,2 3

3 e A @ A T

68. Match the List-l with List-Il and

69.

choose the correct answer :

List-l List-I
(@) Fool's Gold (i) ZnO.CaO
(b) Verdigris (i) AgNO,

(c) Lunar Caustic (iii) Cu(CH;CQ0),.
Cu(OH),
(d) Rinman’s Green (iv) CuFeS,
a b c d

(A @ @) (i) (@v)
B) (v) (i) (i) (i)
(C) (i) (v) (@) (i)
(D) (i) (@) (i) (v)

Which of the following statements
are correct?

1. Acid flux remove FeO and
CuO as impurity.

2. Zone of reduction is at 673-
973 K in blast furnace.

3. Slag is formed at 1773 K in
blast furnace.

4. The hardness of white cast iron
is 400 Brinell.

A 1,2, 4
B) 1,3, 4
(C) 2,3 4
D) 1,2, 3

0129/UE-PHT/PP-E/5-A
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70. =t § % gl A it @1 e wd F@
37

(A) T fafY: wdg As
(B) wftefidist: BaSO, : ZnS
(28%)  (72%)
(C) Usedsstse : (Ni, Fe)g Sg
(D) aafee RifEr : arsefisr whq
71. Pr=fafla & St av srfaamss sifte vurd
22
Cl,0; Nay0, Si0,, P40y
(A) NayO (B) Cl,0
(C) SiO, (D) P4040
72. 1.00 mg #ifirm St & Lit ama= #
sge & forg foaeft 5[ sort etett?
(Li, IE = 520.3 kJ mol™)

(A) 0.01733kJ  (B) 0.0743 kJ

(C) 0.0340 kJ
73. @Y W Zon AR 3ift® syfeda seagT
gerfar 22
(A) N, Fe3*
(B) P, Zn2*
(C) Ni?*, Co?*

(D) 0.0686 kJ

(D) Mn2*, Fed*

70. Which of the following pairs is not
correctly matched?

(A) Rowley process : white lead
(B) Lithopone : BaSO, : ZnS

= - (28%) —(72%)
(C) Pentlandite : (Ni, Fe)gSg

(D) Wetherill process : Chinese white

71. Which of the following oxides is
most stable?

(A) Nay0 (B) CLO,
(C) Sio, (D) POy

72. How many joules of energy must be
absorbed to convert to Li* ions
present in 1.00mg of lithium
gaseous?

(Li, IE = 520.3 kJ mol)
(A) 0.01733 kJ  (B) 0.0743 kJ
(C) 0.0340 kJ (D) 0.0686 kJ

73. Which pair shows largest number of
unpaired electrons?

(A) N, Fed*
(B) P, Zn?*
(C) Ni?*, Co?*
(D) Mn2*, Fed*

& %1 & fw ST / SPACE FOR ROUGH WORK
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74. frafafaa & & oia & uar @@ T2

75.

(a) uRfirm uffe Ssde &1 3wt
3aATe & ®9 # f&ar sar B

(b) umfge figor & enfeys ameaTss e
Al ot Bt (3:1) sr=ura & EduTe
e Strar 2

(c) 313 A & AIHTT B BH T D
fore CaCl,.KF =1 swdwe fem

SATaT 2l

(d) e arseft # 2% A% 3 Na
v Al & Rrefide @3

(A) (b), ()
(B) (a), (d)
(C) (a), (b)
(D) (c) (d)

[A] —f5—> T & waref + Forder skt

1. Mg ftaa, A
2. @ sEe

[B] NH, + @bg 3r@4[C]
IR A A, B, C ® ¥

(A)  (NH,),Cr,04, Oy, Mg;N,

(B) Na,Cr,05, Ny, Mg(OH),

(C) K,Cr,0,, 0,, MgCO,

(D) (NH,),Cr,0, Ny, Mg(OH),

74. Which of the following statements

75.

are correct?

(@) potassium ethyl xanthate is
used as the depressant.

(b) metallic oxide and Al powder
(3:1) ratio are used in thermite
mixture.

(c) CaCl,.KF is used to lower the
temperature in Down cell.

(d) 2% sulphur and silicate of Na
and Al are present in Lapis
Lazuli.

(A) (b), (c)
(B) (a), (d)
(C) (a), (b)
(D) (c), (d)
Al ——
Colourless gas

Dark Green mass +

B 1. Mg ribbon, A
[B] 2.H,0 (Hydrolysis)

ppt [C]

What are A, B, C in the reaction?

NH, + White

(A)  (NH),Cr,05, O,, MgsN,
(B) Na,Cr,O,, N,, Mg(OH),
(C) K,Cr,04, 0, MgCO,

(D) (NH,),Cr,05, N,, Mg(OH),

0129/UE-PHT/PP-E/5-A
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76. @1 A YT A T2

() NH4NOg Pb(NOj),, Cu(NO,),,
AgNO, 3tf T W O, 34 2

(i) Al(QH);, Ga(OH)s, ZnO, SnO,
Furendf §1

(i) BeCl, ama, B,Hg, AlCI, sRrifed
AeHe® A F

(iv) CaC,, BaC,, Mg,C urt & faar
= Wit 33 2

(A) (i), (i)

(B8) (), (i)

(C) (i), (iv)

(D) (i), (iv)

77. fon= & @&t gow o1 ghfea B

(A) [V(H,0)l**, MnO 2~ : & aftar
iR

(B) FeSO,—H,0, : beeat sifira®
(C) TiCl,.Et;Al : Sioer-3TeT 3oR®

(D) V4, Cu?* : Ivars 3iftede

76. Which statements are correct?

(i)  NH4NO;, Pb(NOj),, Cu(NO,),,
AgNO, give O, on heating.

(i) Al(OH),;, Ga(OH)3, ZnO, SnO,
~are amphoteric.

(i) BeCl, vapour, B,Hg, AICl; are
dimeric covalent compounds.

(v) CaC,, BaC,, Mg,C; give
acetylene when react with
H,0.

(A) (i), (iii)

(B) (i), (i)

(C) (i), (iv)

(D) (i), (iv)

77. Match the correct pair of the
following :

(A) [V(H,0)gl**, MnO,2~ : Green
colour complex

(B) FeSO,~H,0,: Fenton Reagent

(C) TiCl,.Et;Al : Ziegler-Natta
Catalyst

(D) V4*, Cu?* : Reducing Agent

% %M & e g / SPACE FOR ROUGH WORK
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78. afg @G H,SO, & 3req AT & KMnO,
e stre @Y & o1 &7 Aerrer smadiewr
+7 & A1y AfRE gorar T

(A) MnO,HSO, (B) K,MnO,
(€)MnO,HSO, (D) MnO,

79. a@ftew & ferg 20 ml Na,SO, fam=

® 30 ml, 0.01 M K,Cr,0, faeemer &t
s/ gt 31 Na,SO, & wiemlt gsft

(A) 0.0225M (B) 0.030 M

(C) 0.015M (D) 0.045M

80. f siftw e § W afs Ry

getagiar 82

(A)  [Co(NH,)gI**
(B) [Cr(NH)gI*
(C) [Fe(H,0)P*

(D) Kj[Fe(CN)gl

81.

et WacIsied 59 2
(A) OH <I"<Br—<en
en < Br=< |~ < QOH"

(B)

(C) Br=>I~> OH > en

IF<Br-<OH < en

(D)

78. If a small amount of KMnO, is
added to conc. H,SO,, a green
solution with +7 oxidation no.
compound is formed

(A) MnO,4HSO,
() MnO,HSO,

(B) K,MnO,
(D) MnO,

79. A 20 ml solution of Na,SO; requires

30ml of 0.01 M K20r207 solution for

the oxidation. The  molarity of

Na,SO; is

(A) 0.0225M (B) 0.030M

(C) 0.015M (D) 0.045M
80. Which complex compound has

maximum number of unpaired

electrons?

(A)  [Co(NHg)e]**
(B) [Cr(NHy)gl**
(C) [Fe(H,0)l

(D) K;[Fe(CN)gl

81. The correct spectrochemical series

is
(A) OH < I"<Br~<en
(B) en <Br~< I~ < OH"
(C) Br=>1"> OH" > en

(D)

I"<Br~< OH" < en

% R & foTT S7g / SPACE FOR ROUGH WORK
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82. 2665g CrCl;6H,0 ¥ foemar 3t
Feraer vadeoR § warfed A war 21
frereret & yTw FeTSS 3T Bt AQNO, &
ary ufafar s w 2.87 g AgCl g4t 21
wifte A o197 R
(A) [Cr(H,0)ICH
(B) [CrCl(H,0)5ICl,.H,0
(C) [CrCly(H,0),4ICI.2H,0
(D) [CrCly(H,0)5].3H,0

83. 6.3 3 TR 3T STFRTSIC BT AT
et 250 mi @ FITAT IRAT| AFATHD
3w sTeETsee & 10 ml Reeer ot gof
Ferfla o= & v 0.1 N NaOH feea=
¥ aras $t sgeaEar gt

(A) 20 ml (B) 40 ml
(C) 100 ml (D) 400 ml
84. Pt Gedle Br, A fiberm e i) 3eTg 912
CH, /CHS
N o~
(A) Y c=0C__ ’
CH, s H
~N
B C=C
®) H- ™ CH,
CH;
. COOH
(C) _C=C_
H H
CsHs / H
AN
(D) c=cC
H- ™~ COOH

82.

83.

84.

A solution containing 2.665g of
CrCl4.6H,0 is passed through cation
exchanger. The chloride ions
obtained in solution react with
AgNO; and give 2.87 g of AgCl. The
structure of complex compound is

(A) [Cr(H,0)gICly

(B) [CrCI(H,0)sICl,.H,0
(C) [CrCly(H,0),]C1.2H,0
(D) [CrCly(H,0)3].3H,0

An aqueous solution of 6.3g of
oxalic acid dihydrate is made up to
250 ml. The volume of 0.1 N NaOH
required to completely neutralize

10 ml of oxalic acid dihydrate
solution is

(A) 20 mi (B) 40 mi
(C) 100 mi (D) 400 ml

Which alkene will give meso product
with Br,?

CH, CH,
N AT
A) Y c=cl_,
CH, H
AN 7
(B) c=C
H-" > CH,
CeH,
- COOH
(C) _C=0_
H H
C.Hs H

\ /
(D) cC=C
H- ™~ COOH
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85. U® gsFIPIEs MU I C Hy, Br, o1
o WiEla BT § vF <ol sfiede &
AY A%G A4 AT B S
SISl U SR AT 8 ETSRIDTae

(A) 1,3-sqereTE
(B) ammgde
(C) 1-sygerd
(D) 2-sgerd
86. frar AR W Rk Fifw
QCH; Cl

©)

0 () (1Im)

NO,* srmaret & nift amiféres  famefierar
2
A) UI>1>1
(B) I1I>1>IIl
(C) II>1I>I
(D) 1>1> I
87. fo=1 & & Bta1 C,H;Cl 6t walftrs miftr &
fere aftfRdfx 29

(A) C,Hg(excess) + Cl,

UV light
— 0N

dark
(B) CZH6 + SOC|2 _mp—‘)

(C) C,Hgz+Cl,(excess)——s

(D) C,Hg+ PCly(excess)—tant

85. A hydrocarbon of molecular formula

C4Hg decolouriges Br, water and
gives white precipitate with Tollen's
reagent. The hydrocarbon on
hydration gives butanone.

The hydrocarbon is
(A) 1,3-butadiene
(B) cyclobutene
(C) 1-butyne

(D) 2-butyne

86. Consider the following compounds

87.

OCH, Gl

©

@ n (I
The relative reactivity towards NO,*
ion is
(A) I >1>1
(B) II>1>III
(C) II >1III > 1
(D) 1>1I>1III
Which of the following is the
condition for best yield of C,HsCI?
(A) C,Hg(excess) + Cl,

UV light

dark
(B)  CoHe + SOCI, — e

(C) C,Hg+Cl,(excess)—s

(D) C,Hg+ PCly(excess)—V gt

T *E & T g / SPACE FOR ROUGH WORK
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88. CgHg+ CO+HCI 88. CgHg+ CO+HCI

Anhyd.AICI, [ X] + HCJ Anhyd AICI, [ X] +HCl
AP X3 The compound [X] is
COOH ' CHO COOH

RIS

CHGl CH,CI

16
JORIONINGRNG

89, ﬁmﬁﬁﬁﬁ?;ﬁ?@ﬂiﬁﬁnﬁ?ﬂmfﬂm 89. Correct order of reactivity in

electrophilic substitution reactions of
& fsameftaar o1 adt mw 2 following compounds is

08| 08AS

) ) (i (v) ) (i

A I1=>1l>1>1v A 1>11>1m>1v
(B) IV>11>1l>] (B) IV>1iI>1>]
C) N>1>1>Iv ©C) >1>1>1v
D) N>Ms>i>V Oy N>1>1>

T %M % Tt S8 / SPACE FOR ROUGH WORK
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90. CH,CH,OH—22, A +

(:>4-‘:’ &I 22

(A) - CH;CHO +1,

(B) CHgsl + HCOONa
(C) CHI; + HCOONa
(D) CHgl + CH,COONa

91. o1a fbarer o1 CCl4 @41 NaOH & @1y
siflfbar soa ¥, 3G Se1aT © :

(A) itz 3t
(B) Afufifeerss
(c) Afufifere smer
(D) S=sreifdErss

Lo
JOSCE
Zn—Hg

< \’® ( ) \‘©

()
1
oD ® GLE

| |
©) (D)
Cl

90.

91.

92.

NaOl

CH,CH,OH—— (A) +
What is (&) +(B)?

(A) CHZCHO + 1,
(B) CHgl + HCOONa
(C) CHI; + HCOONa
(D) CHgjl + CH;COONa
When phenol is treated with CCl,
and NaOH, the product formed is
(A) Benzoic acid
(B) -Salicyldehyde
(C) Salicylic acid
(D) Benzaldehyde
Ko

N
089k, @

Zn—-Hg
AICI; (HCI) ©

0
(B)
|

o (e Jo

dentify C :

(A)
|

080

()

% % % T S8 / SPACE FOR ROUGH WORK
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(©) OQN—@—O—@@
@)Qi%ﬂ~®%@}~mz

94. AR CHyCl B o1 Fefta KOH ¥ e
STl 3IHes B W ), CgH 4,0 Farar 2|
BT AT TS T W ©) WTH
8T 3, S eTTens srrrstenl ufveror dar

© T R?

(") Cefts CH — CH,
OH

i
(B) CgHs —C — CH,

|
|

(D) CgHs — CH, — CH,OH

93.

94.

@O*C (0) g0, ®
product &) of this reaction will be

NO,

ROSS S0
(B) QQ_&$_@§
© on—(0)—o—4~(o)
(D) Wﬁ—@—m

Compound @ CgH.CI is
hydrolysed by aq. KOH to form
CgH410O. ® on mild oxidation gives
© which gives positive iodoform
test. What is ©)?
(A)  CeHs CI:H — CH,

OH

i

I
|
(C) CgHs —CH—CH,

(D) CgHs — CH, — CH,OH

T il % fT SE / SPACE FOR ROUGH WORK
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cl cl
E=0 t=0
95. NaN 95. NaN
—Naél @ —NaCal @
_'?123‘\'_8 rearrangement KOH @ __Nz’ O rearrangement _ @ : _KOH 3 @
€A © awm @ & The compounds © and @) are
EHZ NH
- 2
© Nz &=0 NH,
*) @ and @ (A) and @
NHCI ..
NHCI
&o Nz &=0 NH,
B
& O'a”d@ (B)@and@
N=C=O  CN :
N=C=0 CN
(C) and ©) and
=C= NH
N=e=0 : N=C=0  NH,
(D) and D) and
96. f3u a1y aifiifdan & 96. In the given reaction
NBS .~ H0O _ NES H,0 _
@ > ® K;)Os’ ® K,CO5 >®
AR @ . the compound @) is
OH - oH OH
o W | G e
Br o Br o
©) @ o (Y ©) o (Y

% % % fU S8 / SPACE FOR ROUGH WORK
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97. gee-Y% A § TgAID WY §ar 3
(A) PMMA

(B) dad=
(C) siem
(D) FAAR
98. forar # Uo Wuewl Tgio &
(A) e
(B) ueifeeslar
(C) 3mr=

(D) PVC

99. frEmssa whem grY uga= s s
(A) ufekerss @t
(B) vATSEE B
(C) anfitana @)
(D) 3rEPIEId B

ofvadT srrpufor e 3 & v e
ST 8

(A) Fgwrsr
(B) gwiet
(C) mErst
(D) <EeST

100.

97.

98.

99.

100.

Polymer used in bulletproof glass is

(A)
(B)
(C)
(D)

PMMA
Lexane

Nomex

Kelvar

A condensation polymer among the
following is

(A)
(B)
(C)
(D)

Teflon
Polystyrene
Decron
PVC

Ninhydrin test is used to identify

(A)
(B)
(C)
(D)

Aldehydes
Amides
Amino acids

Alcohols

Mutarotation will not be shown by
which one of the following

(A)
(B)
(C)

(D)

Sucrose

‘Glucose

Fructose

Lactose
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- PART—III / wmer—lil
(A) Mathematics / aifdra

FETREE

101. 3 FEI 30 UBR & & fed & 1@ 101. The two numbers such that each one
mqaﬁ s @7 gof 3, gt is square of the other, are —
A o, o3 | A o, o
B) 1 i B —ii
) -11 ©) -1
D) o, o2 @) o 0F
102. If z is a complex number such that
. z-1 :
o« & . __1
102. a3 7 v Ay Fwar &, et z+1TTh' %I? is purely imaginary, then
oreafars §, at
® 121=0 w1l
®) lz|=1 B el
©) 1z] <1 C) lz| <1
©) |z|> 1 D) |z]>1
D1 103. The sum of the series %+%+%+-.--
103. §+§+E+---- %9@%&%@“ to 9 terms is
3
3 i
A -5 A =2
5 _5
B) -5 ® %
1 A
© -3 © 72
©) 1 (D) 1
T M & fIC S8 / SPACE FOR ROUGH WORK
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1 1
bc ca’ ab

104. afR a, b, c FAT-ANHE, @ —
gt

(A) wrene 4
(B) Ioiter gt
(C) wmmear S

(D) 7o A B ft

2 1
105. afF x=2+23 +23, @t x3—6x2+6x =

(A) 1
B) 2
) 3

(D) et & BIF el

106. af} (2+—§-) Tuar & X7 wad x8 &

3[UII® &SR §, dt n gem

104.

105.

106.

1 1

1
a, b, ¢ are in A.P. then, EE‘;E

are in
A) H. P
(B) G.P
(C) AP

(D) None of these

Ifx=2+2§+2%,thenx3-—6x2+6x=
A) 1
(B) 2
) 3

(D) None of these

If the coefficient of x’ and x8 in

n
(2+—§) are equal then n is

(A) 15 (B) 45 (A) 15 (B) 45
(C) 55 (D) 56 (C) 55 (D) 56
% w1 % T 78 / SPACE FOR ROUGH WORK
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i 0
107. af? A{O ,} (i=+v-1), @ A~
o0
gem
i 0
A 1o -2
N 0}
(B) I
A
i 0]
©) 1o 2
.
®) 12i o]
11 1 1
108. 152334 a5 - TRENM
4 e
®) log,> ®) log, 5
(€) log, 4 D) log, 2

109. 3 cosh + 4 sind 3T 3 AT g
(A) 3
(B) 4
(C) 5

(D) et & PIF @l

107.

108.

109.

J=1 ) then A~ will

===,
——
b 9
1l

i 0
0 —
2

be
=i 0
A o -2
i 0
B |o L
"2
o
©) lo 2
.
D 125 0

1 1 1 1

12773 + 34 45 +.... is equal to
A Io i B IO E
( ) gee ( ) ge4
(C) log, 4 (D) log,2

The maximum value of 3 cos6 + 4 sind
is

(A 3
(B) 4
(C) 5
(D) None of these

%+l % T S8 / SPACE FOR ROUGH WORK
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110. /3 cosec 20° —sec20° T AT o 110. The value of

J3 cosec 20° —sec20° will be

) 'Zsin20°
sin40° 2sin20°
45sin20 ") sin40°
S o
(8) sin40°
B 4sin20°
©) 2 B “sinace
(D) 4 © 2
(D) 4

111. sin (2 sin~10.8) &7 a1 &
111. The value of sin (2 sin~" 0.8) is

(A) 0.96
(B) 0.64 (") 096
B) 0.64
(C) 0.48 :C)) .
(D) Fa% & oI awgt (D) None of these
4 B
112. sin 1('“2_ T WO A1 § 112. The principal value of sin‘{—%} is
_2n 2
W 3 (A) —?n
T
® -3 ® -3
4n
4n 4
© 3 © =
5n
on 5
® 3 © >
T %1 % feTT S8 / SPACE FOR ROUGH WORK
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113. 9f% awenET y=mx +i f¥sg (2, 4) w@
(3,-5) & JERaT }, @ m 3R ¢ F W=
HUA: gt

(A) 9,22 (B) -9, -22
(C) -9, 22 (D) 9,-22
114, aftowmr

\/(x2+4y2—4xy+4)+x—2y=1
wgf3fa o §

(A) TTRTT

(B) dHefgm

€

(D) e

ga x2+ y2—6x— 10y + A = 0 forgemeit

o1 wef a1 nfeed i arflf owar 8, o g
(1, 4) g9 & 3R Fua B, Y A & A& &7

A g

(A) (20, 25)

(B) (25, 30)

€ 5,9

(D) (25, 29)

AT Ix + my + n = 0 G x2 = 4ay
ot aef ovet o1 ufdey & s
(A) bn=am?

(B) al2-mn=0

(C) In=am?

(D) am=In?

115.

116.

113.

114.

115.

1186.

If the line y = mx + i passes through
the points (2, 4) and (3,-5), then value
of m and c respectively will be

(A) 9,22 (B) -9, -22
(C) -9,22 (D) 9,-22

The equation

\[(xz +4y2 —-4xy+4) +x-2y =1
represents alan

(A) straight line

(B) ellipse

(C) circle

(D) parabola

The circle x2+y2-6x—10y+A=0
does not touch or intersect the
coordinate axes and the point (1, 4)
is inside the circle then, the set of
values of A is

(A) (20, 25)

(B) (25, 30)

€) 5,9

(D) (25, 29)

The condition that the straight line

Ix + my + n =0 touches the parabola
x2 =4ay is

(A) bn=am?
(B) al2-mn=0
(C) In=am?
(D) am = In?

% %1 & T g / SPACE FOR ROUGH WORK
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117. qe foeg & s[oreat areft fbaett weer ey
gisft oY, ferdena araft & wHTet BT FaTet
27
A 1 (B) 4
(C) 8 (D) 2

118. If oo Wenwn & fForgen® gt w wég
2, 3,6 ¥, a azenwm $ oaTs ?
(A) 7 (B) 5
(C) 1 (D) 11

119. Fftewor

ax2 + by2 + cz2 + 2fyz + 2gxz +2hxy
+2ux + 2w+ 2wz +d =0

TS 3Nt ferwfUa oem afe
(A) a=b=c
(B) f=g=h=0

C) u=v=w

(D) a=b=c aur f=g=h=0

120. 39 AYdd o1 aflewwr, & wwad
X=2y+2z=5 % Auem & au1 foradt

g (1,2,3)dg18 2
(A) x-2y+2z=3
(B) x-2y+2z+3=0

(C) x-2y+2z=6
(D) x-2y+2z+6=0

17.

118.

119.

120.

How many lines through the origin

make equal - angles with the
coordinate axes?

A) 1 (B) 4

(C) 8 (D)2

The projection of a straight line on the
coordinate axes are 2, 3, 6. Then the
length of the straight line is

(A) 7 B) 5
(C) 1 (D) 11
Equation

ax2 + by? + cz2 + 2fyz + 2gxz +2hxy +
2ux+2vy+2wz+d=0

will represent a sphere if

(A) a=b=c

(B) f=g=h=0

(C) u=v=w

(D) a=b=candf=g=h=0

Equation of a plane, which is paralle!
to the plane x-2y+2z=5 and
distance from the point (1, 2 ,3) is 1,
is

(A) x-2y+2z=3
(B) x-2y+2z+3=0
(C) x-2y+2z=6
(D) X-2y+2z+6=0

T %1 & {7 g / SPACE FOR ROUGH WORK
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121. afewfer 5 p ¢ WAEd ¢=a+b 3tz 121. If 3, b, ¢ are three vectors such that

3-b=0, ¢=a+h and 3.p=0, then
(A) a2+b%+c%=0 (A & +b*+c%=0

(B) &2-p%=0 B —52—52 =0

©) & +p*=c (©) & +5%=3

(D) 3%-b%=¢c? (D) 3%-h%=¢?

- - . L= 122. 4 and b are unit vectors. If 3+b is
122. & @1 b yord Afeu ¥19fS 4+ b For a unit vector, then the angle between

aftu R ataaup s ET IR

3 and b is
n B il T T
2 ® 3 ™ 5 ® 3
2n
(&) 3 (D) 2 ©) 2_;_ D) _g_

123. A, B fufa wfder & awn b ¥ 97 g
O T AT &, T X, Y, AB &t 2:1 3[u1a

123. A, B have position vectors 3, b
relative to the origin O and X, Y divide

% gt aur g fawnora seaT §, @ xy AB internally and externally in the ratio
BT A Far 2:1, then xy is equal to

@ 5(6-) | w 36-a)

® 5(-5) ® 5(a-b)

© ¢(6-3) © 2(5-a)

(D) %(5-5) (D) %(5—5)

% %H & fw S8 / SPACE FOR ROUGH WORK
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124. forafaRaa wrsret & & Bt @1 srefgof 27

125.

126.

(A G-(Vxw) ®) (G-7)w

C) (G-7)xw (D) Gx(V-W)

afg
log, [ log; log, (x) 1=1,
at x ®T 71 gen

A) 2
(B) 43
(C) 2x3x4
(D) 1+2+3+4

afg f(x)=|og(t—)):) Sg —1<x,,
Xg <1, @ f(x) + f(x,) e 8

Xy — X
fl 2172

(A) 1+ X%,
Xq+ X

fl 21 2

(B) 1+ X, X,
Xy + X,
1- %%,

©) f

@ i

124. Which of the following expressions is

125.

126.

meaningful?

(A) U-(Vxw) (B) (U-\?)-VT/
(C) (4-v)xw (D) ax(vV-w)
If

log, [ logs log, (x) ] =1,

then the vaiue of x is

4
@ 2°

2
B) 4°
(C) 2x3x4
(D) 1+2+3+4
If f(x)= log(%] when -1<x,,

Xg<1, then f(x,) + f(x5) equals

Xy —X
f 1 2
(A) 1+ X%,
X1 + X2
X, + X
f 1 2

Xy = Xy
D) f(1‘ X1X2J

% %0 % foT S / SPACE FOR ROUGH WORK
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1 1 0
127. oy f(x)st'"}’ x#0 @ | 270 f(x)JXS'nx’ ¥#P then
' 10 x=0 0, x=0
)l{ilrﬂ)f(x) 2 | )I(i_%f(x) is
(A) 1 | A) 1
(B) -1 (B) -1
€ 0 (C) 0
(D) R et & (D) Does not exist
128. el f(x)= 1 ¥ fau srATaea 128. The number of points, at which the
' log | x| : 1 _
: functi = S
ﬁvgsﬁﬁm% unction f(x) oa x| i
A 1 B) 2 discontinuous, is
(c) 3 (D) 4 A 1 B) 2
(C) 3 (D) 4
129. wer& f(x)=] | x | - 1| g W sr@@ertta
aff 129. Function f(x)=||x|-1] is not
differentiable at the point
(A) 0 (B) =1 A) 0 B) +1
) 1 (D) £1,0 (C) 1 (D) 1,0
1 2
130. AR w f(x) == - X205 | 430, The function f(x)=%— 2 L X0,
e _—
x=0Waw 2, @ is continuous at x = 0, then
(A) f(0)y=1
(B) F(x), x=0 W Pt 2 A 1O=1
. (B) f(x) is differentiable at x=0
(C) f(x), x=0 R aBert ¢ ¢ (C) f(x) is not differentiable at x = 0
1 1
' - f: —
@ 7(0)=3 @ 7(0)=3
" % ¥ fre @ / SPACE FOR ROUGH WORK
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131. B#a f(x) = 2x2—log | x|, (x = 0) ot
et § vofine aefurer 3

@ (3]

132. aw x = a (t + sin §), y=a(1-cos ) &1

fieg t w sifdrera 6} arard 2
(A) asint

. 3t t
2asin—sec—
(B) <2a 5 5

[t t
(C) 2asm(zjtan(§)

[t
(D) Zasm(EJ

131. f(x)=2x?>~log | x|, (x=0) s
monotonic increasing in the interval

o ([$opfe

132. The length of the normal at point
t of the curve x=a(t+sin D,
y=a(l-cost) is

(A) asint

. 3t t
2asin—sec—
(B) 5 >

wf t (t
(C) 2asm(5)tan(5)

[t
(D) 2asnn(§)
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314
x“tan X
= —d

133, [~ dx=

(A) —3:(tan'1 x* ')2 +C

(B) —;—(tan‘1 x* )2 +c

() %—(tan‘1 X2 )2}+ c

(D) -;—(tan‘1 x4 )2 +C

134. [(———1——— dx =

x—1)(x2 +1)
(A) %log(x—1)—%log(x2+1)

——tan'x+c
2

(B) %log(x—1)+ %Iog(x2 + 1)

—1tan'1 X+C
2

1 1
(C) Elog(x - 1) - Elog(x2 + 1)
Janx+c
2

©) vt & o

3 1 4
x°tan™ x
133, [ e

A) -::(tan-1x4)2+c
® Hltanx) 4o
©) gltenx®) +o
(D) —;—(tan‘1x4)2+c

K
134. j(x—1)(x2 ) dx =

(A) %Iog(x—1)——}|og(x2+1)
tantx+c
2
(B) —1-Iog(x—1)+1log(x2+1)
2 4

—1tan‘1 X+C
2

(C) %Iog(x—1)—%log(x2+1)

—1tan‘1 X+cC
2

(D) None of these

& %™ % 1w w8 / SPACE FOR ROUGH WORK
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135. AT

I

J'OE(sin x —cos x)log(sin x + cos x)dx

®T A 3

®) 1 ® -1

© 0 © 3
136.x=0 & x=7 ¥ 5= m

y =sin 2x + cos 2x ¥ Aga &y
(A) %avfsam‘
(B) 1 asf so18
(C) %aafsm‘
(D) 4 =of so18

137. 3ada Aftewor xlogxgy+y=2logx

dx
®T g B
(A) y=logx-clogx
(B) y=logx+—~c—
log x

(C) y=logx+c
(D) = A oiF o1l

135. Value of the integral

136.

137.

T

f(;f(sin X —cos x )log(sin x +cos x) dx

is

(A) 1 (B) -1
T

(€) 0 ) 3

Area under the curve

y = sin 2x + cos 2x,

between x =0 and X=§ is

A 1sq unit

(B) 1 sq. unit

3 .
— sq.unit
(C) - sg.uni

(D) 4 sq. unit
The solution of the differential equation

dy .
xlogx—+y =2logx is
g dx y g

(A) y=logx-clogx

c
=logx+—2—
(B) ¥=logx+p—

(C) y=logx+c
(D) None of these
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138. (1, 2)&=Jmﬁawaamd—=)<+—12— 3]

X
HIR B I a BT T B
(A) 2xy=x3+5x-2

(B) xy=x3-5x+2

(C) 2xy=x3-5x+6

(D) 7ol & B 7

139, sramw witswr LY - VX +y® +y

ax x
T 8

(A)  x++x%+y? =cy?
B) y+yx2+y?=cx?

(C) x-+x?+y? =cy?
(D) 3ent & o it

140. 3radd Tftwwr i}-'-+y=X—J-’l 3T 5

e
(A) y=—+ce

xe*

(C) y=x+cxe™
(D) it & By et

138.

139.

140.

The equation of the curve passing

through (1,2) and satisfying
dy

L= X+—5 j

dx X2

(A) 2xy=x3+5x-2
(B) xy=x3-5x+2
(C) 2xy=x3-5x+6
(D) None of these

Solution of the differential equation

dy _y_ \/x +y

ax X

(A x+yx?+y? =cy?
B) Y+ x2+y?=cx?
C) x-yx?+y?=cy?

(D) None of these

Solution of the differential equation
2

Wy X g

ax X

_1 -X
(A) y=—+ce

(B) y=x+ g

xe*

(C) y=x+cxe™
(D) None of these
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141. P aur Q, 3 {3 3o1eq 71 gt=it &t |urer
T # oftd urw =t & mlRear 2

5 3
A 15 B) 15

142, afs  P(A)=

18
5 1
()18,

11
(C) 36

(D) i & B 7d

143. v® & 31 ufa s IuTee W o9-F-59
UF SR Y6 T Ht miwar

A) =5
(B) =5

(©)
(D) @ & BIY gl

141.

142.

143.

P and Q toss 3 coins. The probability
that they both obtain the same number

of heads is

B % . O 5%

c) + D) >

(C) 9 (D) 3

I P(A)=1 P(B)=~  and
4’ 2

P(A UB) =— then P(%J

7

(A) 18

11
(B) 18

ﬂ'
36
(D) None of these

(€)

The probability of having at least one
tail in five throws of a coin is

31

A 35

5
(B) e

A
32
(D) None of these

(©)
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144. 3% rﬂmﬂw% aqar byx’ bxya
FHTSRIT [T §, a9 fonet F & e wd
27
(A) r=by,-by
B) r= bxy+byx_

(C) r=(sgnbyy )by, by

b
S
(D) bx
145, fa-REsa {Afy gr fadta ot 0@

wftewor x3-5x + 1 =010, 1] T wex
e e 2

(A) 0.5

(B) 0.75

(C) 0.25

(D) 3w & BIY Tt

x = 2 & forpe wflowr x2 = 5x - 2 ST YA
3

(A) 0.8367 (B) 0.8167

(C) 0.8467 (D) 0.8567
n = 2 @ a9 Fnet f&fer o1 Iger e

3dx

1 x3
(A) 0.581
(B) 0.821
(C) 0.721

(D) wo# A B we

146.

147.

144,

145.

146.

147.

If ris the coefficient of correlation and
byx, bxy are the two regression
coefficients, then which of the
following is correct?

(A) r=bxy-byx

B) r= bxy + byx

(C) r=(sanbyy) /by by

by,

r=—=

@ "%,
The root of the equation

x3 - 5x + 1 = 0 lying between [0, 1] by
bisection method upto second
approximation is

(A) 05

(B) 0.75

(C) 0.25

(D) None of these

The root of the equation x2= 5x —2
nearer to x =2 is given by

(A) 0.8367 (B) 0.8167
(C) 0.8467 (D) 0.8567

Taking n=2 and using Trapezoidal
3dx
rule, the value of L B

(A) 0.581
(B) 0.821
(C) 0.721
(D) None of these
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148. Z=x+y oI @l

2x+y <4
X+2y<4
x, y20

——— % arthter wgew AT B

S
W 3 ®)

8
© 3 (D)

W~ w|4>

149. Ra® wemrer T
Hegdd Z=x+Yy
oraf
x+y <A1
2X+2y>6
x, y20
¥ areftar, wwerred genl 6t AT R
(A) 1 (B) 3
(C) o3 & =gl (D) 3=eq

150. Z =8x,+3x, ®T 2raf

X1+X2£3
4X1+X2$6
X, X2 20

& refler wgam AT R
A) 9

(B) 14

C) 18

(D) 39 & & B ol

148. The maximum value of Z=x+y,

149.

150.

subject to
2x+y <4
X+2y<4
x, y=0
is
5 4
O B) 3
8 7
©€) 3 D) 3

For the linear programming problem

Max. Z=x+y,
subject to
x+y<1
2x+2y>6
x, y=0

the number of feasible solutions is
A 1 B) 3
(C) no solution (D) infinte

The maximum value of Z =8x;+3x,
subject to
X1+ X9 <3
4X1 + X2 <6
Xy, X 20
is
(A) 9
(B) 14
(C) 18

(D) None of the above
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PART—II / srar—Ill
(B) Biology / sfta fagmst

Botany / a=wufa fagna
101. siiafidlr Biepiiieiaor Argeiaivgar & 101. Oxidative = phosphorylation takes
5w et & FraT 29 place in which part of mitochondria?
. (A) outer membrane
A) e gt
] (B) inner membrane
(B) arfaf frgh .
(C) intermembrane space
(C) 3 fRrgit o=t (D) matrix
(D) Aglew
) i 102. Which of the following is a site of
102. gftaerae & féer aifirfban o1 e foay hill reaction in chloroplast?
A B ar 2
(A) Grana
A
(A) s (B) Stroma
(B) z;’l T (C) Outer membrane
(C) srar frgit (D) Inner membrane
(D) sriafes gt
103. Enzymes of glycolate pathway are
103. saIdIde Tad & e s 7 & by found in which of the following
ATEEYaTaT i ar ama ¥ microbodies?
(A)  FemTFftE (A) Glyoxysomes
(B) URamEAtET= (B) Peroxysomes
(C) == (C) Sphaerosomes
(D) e (D) Lomasomes
T &M @& T 378 / SPACE FOR ROUGH WORK
0129/UE-PHT/PP-E/5-A (50)
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104. fonst & & Pl a1 free ursAeT fae 72
(A) Teftdar
(B) wigStet
(C) 3R. Ta. U. Uidtaist
(D) . va. u. gietme
105.§mmﬂw$rmﬁmﬁﬁaﬁam
2
(A) sftarg
(B) fawry
(C) UrIGIETSHT
(D) ufeirRicH

106. FTsiem Srersgar # denheieit &
&1 uoR forst # & Btar a1 22

(A  wieigTTed (v wemit)
(B) wBIgTsew (o Hamfl)
(C) urbiesaw (3w wamsfl)
(D) fcrsww (ufnft)

104.

105.

106.

Which of the following enzymes is a
primase enzyme?

(A) Helicase
(B) Ligase
(C) RNA Polymerase

(D) DNA Polymerase

Which of the following is a cause of
sandal spike disease?

(A) Bacteria
(B) Virus
(C) Mycoplasma

(D) Actinomycetes

Which of the following types of
flagellar attachment is of spirillum
undula?

(A) Monotrichous
(B) Lophotrichous
(C) Amphitrichous

(D) Peritrichous
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107.

108.

109.

110.

e ot & FEADUT BT 3 TR A
o Stre Bt & & 77 BgeTaT 22

(A)  Zomm oot

(B) 3Imrg

(C) orgemrg

(D) wIoH®

ursed # MR sifdrereit o1 fomfor o
#ar 32

(A) W & gd

(B) URIETOT B TRuUTA

(C) forswar & voumE

(D) e F fvpes & ywE

Riastiaten & aat &t siafye dvgen 7 ol
AT T RGN gHaT B2

(A) awge

(B) 3f=dvcadr

(C) ufidw

(D) srerReaar

3ok & forrst # & Bl AT WRreTVT YR ST
27
(A)
(B)
(C)
(D)

a1 P
geft azreror
e qREToT

ST YeTereT

107.

108.

109.

110.

Which of the following is known as
gametangium without copulation
surrounded by many layers?

(A)
(B)
(€
(D)

Zygosporangium
Zygospores
Azygospores

Coenogamete

When prothallial cells are formed in
pinus?

(A)
(B)
(C)
(D)

Before pollination
After pollination
After fertilization

After rupture of pollen sac

Which layer in internal structure of
selaginella stem is trabeculated?

(A) Cortex
(B)
(C)
(D)

Endodermis
Pericycle

Hypodermis

Which of the following pollinations is
found in fig?

(A) Anemophily
(B) Ornithophily
(C) Entomophily
(D) Hydrophily
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111. afnpory o1 fomfor forer # & s @ar 111. Which of the following  forms
39 perisperm?
(A) Endosperm
A % PP (B) Synergid cells
B) rﬂqy (C) Antipodal cells
(C) st i (D) Nucellus
(D) devser
¢~ ‘ 112. Which of the following is stored in
Nz, mm‘l.?lﬁm%zﬁmﬁ A fora & & Cyanophycean granules?
Rerer wary e 42 (A) Carbohydrate (B) Protein
(A) wrETETszE (B) iclar (C) Fats (D) Minerals
(C) (D) e 113. Micronutrient which is important in
113. o & uftagsr, TeeITsH & AW qUT transport of sugar, synthesis of
BRre1 Rsrrer 3 Rig amaees geadives enzymes and cell division is
3 (A) Phosphorus (B) Boron
A G B) awi (C) Potassium (D) Sulphur
(C) ufrm (D) @w® 114. Match the columns :
114. it o1 fems $IRe (a) 4C compound (i) Acetyl CoA
(@) 4C#Bs (i) ufifRe CoA (b) 2C compound  (ii) Pyruvate
(b) 2C#ABm (i) uUrmAT (c) 5C compound (iii)Citric acid
(¢ 5CaRm (i) arsiEs s (d) 3C compound (iv) a-ketoglutaric
d) 3CH#HRm (v) o-birEgais acid
ST (e) — (v) Malic acid
@ == ). Hiews; e @ ® © @
(a) (b) () (d) ) :
y _ (A) (i) (v) (iii) (i)
(A) (i) V) (iif) (i) : : y
® W O  ® 0 Gy W O B
(C) (iii) (i) (iv) (ii) (C) (iii) (i) (iv) (ii)
D) ) (iii) 0) (ii) (D) (v) (i) (i) (ii)
w %M % RIT e / SPACE FOR ROUGH WORK
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115. sfRiiRRRa wivwifvaee & ETS @1 sifeem
sAagier aATat 2
(A) H,
(C) Cytb

(B) Cyta,
(D) CO,

116. RNA vd M= weiret § Hgra® Irqy gife
5

(A) Faifae
(B) 3rifaster
(C) ursdrTEfeE
(D) et

117. uTg" gniter Rraer fRnrfor AR sifdrerait
# gia1 ® @7 98 T WA BT B BT 8

(A) AT s
(B) uwsHifr® s
(C) vefiehiar
(D) et

118. a3 fg= & nhfRufas a5 & samqet
& F@Ear werer 6 fifera 1 WS @AW

anfifa oftd mramfet & s deft
(A) 60 (B) 30
(C) 6 (D) 3

115.

116.

117.

118.

Last electron acceptor over ETS in
oxidative phosphorylation is

(A) H, (B) Cyt ag
(C) Cytb (D) CO,
Plant hormone which is helpful in

making RNA and protein is
(A) Gibberellin

(B) Auxin

(C) Cytokinin

(D) Ethylene

Plant hormone formed in injured cells

by which the injury of plant is healed

(A) Traumatic acid
(B) Abscisic acid
(C) Ethylene

(D) Florigen

In grassland ecosystem, the number
of producers is about 6 millions. The
number of top carnivores supported
by it would be
(A) 60 (B) 30

(C) 6 (D) 3

% %1 & fow S / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A

(54)

gcollegedunias



119. HEER § Wl B FRT IEfRd AaHR gr 119. Biomass produced by plants in

2 ocean accounts for
(A) 85% (B) 75% (A) 85% (B) 75%
(C) 65% (D) 55% (C) 65% (D) 55%
120. FET B 120. Saffron is
(A) I5GE B YIW (A) Stamens of Hibiscus
(B) afersen F afdfer va afdemr (B) Style and stigma of Rauwolfia
(C) sfosenba  affer va afdfom (C) Style and stigma of Indigofera
(D) wiew &t afder vg afdformr (D) Style and stigma of Crocus

121. frar A & & 21 aft srgar sarsmar | 121. Which of the following is also known

29 to be as tree of 21st century?

(A) ™ (B) arifds (A) Rubber (B) Orchid

(C) i (D) e (C) Neem (D) Coconut
122. uTsdym fEuA vrw e @var 29 122. Pyrethrum is obtained from

(A) GGt QI A (A) Flowers of Chrysanthemum

(B) wdersem & gsg & (B) Flowers of Rauwolfia

(C) e & gou & (C) Flowers of Hemp

(D) arbtw & goq & (D) Flowers of Opium

e

% FR % fT S8 / SPACE FOR ROUGH WORK
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123. N3+ a1ae oA WRgE gar 82
A) e $Ade va Hhke
(B) et
(C) fafdm C
(D) wrfes

124. s ABE ot v sfta T FRT 3T g1 2
ve 3y Sfat & e o PRty o 2,

PETAT ¢

(A) wfas=
(B) IemfddER®
(C) wodteifans
(D) wfsiRst

125. W<ioten wulfbay Ud daciadiown
eafed o JuAter fbad Iamge # fbar
ST 82

(A) R

(B) drr | gt
(C) wufadfaSt
(D) TwrEe

123.

124,

125.

Golden rice is a variety rich in
(A) B-carotene and feritin

(B) Lysine

(€) Vitamin C

(D) Biotin

A compound which is produced by
an organism and inhibits the growth
of other organism is called

(A) Antigen

(B) Antibody

(C) Antitoxin

(D) Antibiotics

Streptococcus thermophilus and
Lactobacillus bulgaricus are used
for the production of

(A) Cheese
(B) Yoghurt
(C) Antibiotics
(D) Alcohol

% %1 & ot S8 / SPACE FOR ROUGH WORK
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Zoology / mfer fagmar

126. RIS fewrss vdtefiforny urd st 2

126. Pseudostratified epithelium occurs in

(A) aTereta far § (A) Oesophageal wall
(B) vawferar 3w # (B) Bronchiole lining
(C) e #t gfam 3 (C) Urinary bladder wall
(D) 7 &t daw & (D) Rectal wall
127. dfiay siftrer o st § -
(A) apa ¥ 127. Neuroglia cells occur in the
©) Tﬁﬁ (B) Brain
(D) wfErs v ¥ 7o (C) Kidney
. . . (D) Brain and Spinal cord
128. for=t & & Bter amew ferest & ¥ wn & & 128. Which of the following is absorbed
Srauitfia g sirar 87 in the alimentary canal ?
(A) 33 @1 vesgfie (A) Albumen of egg
(B) ulsddwms (B) Polysaccharides
fretfire (C) Fat soluble vitamins
:g; mﬁwﬂﬁ (D) Proteins
' ) _ . 129. Movement of CO, and O, across the
129. arg@ien vd anfa & ftw CO, w@ O, a1 alveoli and capillaries takes place by
SATATeTHST GHaT 8 (A) Imbibition
(A) sid:2Nyv F ZRT (B) Carrier transport
o (C) Diffusion
52)) S %samasm (D) Active transport
130. Total number of bones in hind limb
(D) wfha aftgs & @ in human is
130. wesa & weurg & g iRt et
(A) 21 (B) 30 (A) 21 (B) 30
(C) 14 (D) 24 (C) 14 (D) 24
W %/ % {7 S8 / SPACE FOR ROUGH WORK
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131. ysdt Faaeml oftar s35s § 131. Typical mammalian cervical vertebra

are
SR K (B) 3FS (A) 1stto 3rd  (B) 3rd to 5th
(€ 37 (D) 5#7 (C) 3rd to 7th (D) 5th to 7th
132. T Telter aftfefe & 7% qr 1 R 132. In emergency,_ blood pressure is
T controlled by
(A) argerettar (A) Adrenaline
(B) wiafaa (B) Prolactin
(C) ACTH (C) ACTH
(D) URRifE (D) Thyroxine
133. sz # wA® faEfm mufde | 133. During  oogenesis each  diploid
RramoreraifreT aardl 2 primary oocyte produces
(A) °r oriefte T (A) four functional sperms
(B) T srdfefta TR st (B) four functional polar bodies
(C) ue oriefier 3vst T diesr der sister (C) one functional egg and three
polar bodies

(D) 3 srfefter arod @@ q) diew st

(D) two functional eggs and two

. | ies
134, ity o o e & Rrofm ad polar bedies
27 134. Gonads develop from  which
embryonic layer?
(A) waere
A) ectoderm
(B) ftarsd A -»
(B) mesoderm
(©) e (C) endoderm
(D) dred va wed =t | (D) both mesoderm and endoderm
1% % ¥ f e / SPACE FOR ROUGH WORK
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135. 3Mgf- Yo gaswitas g oraT 3
(A) Foreft #
(B) wterat
(C) wwgrd
(D) gt &

Aaw s Slaed 613 §

A) uTa®

(B) et

(C) vt

(D) wgwruelt
FeTgelbeed fig & faat Sty g ¥2
(A) 45

(B) 47

(C) 46

(D) 44

136.

137.

 farg & eusr Hare o1 daa O quT A
T WYE §1a7 31 39 A1eT- et o7 Horfda
Sieiterzg @

(A) 1MA and 1A10
(B) 1A1A and 1010
(C) 1919 and 1910

138.

(D) 1710 and 1010

135.

136.

137.

138.

Repetitive regeneration is found in
(A) Tadpole

(B) Molluscs

(C) Hydra =1

(D) Human beings

Sex linked characters are always
(A) lethal

(B) recessive

(C) dominant

(D) pleiotropic

Klinefelter's syndrome has how many
number of chromosomes?

(A) 45
(B) 47
(C) 46
(D) 44

Offspring produced from a marriage

have only O and A blood groups.
The possible genotypes of the
parents would be

(A) 1MMA and 1A10
(B) 1A1A and 1910
(C) 1919 and 1910
(D) 1710 and 1910

T %1 & foTe s / SPACE FOR ROUGH WORK

0129/UE-PHT/PP-E/5-A

(59)

[P.T.O.

gcollegedunias



139. sftsr aeifier v et ufdar 8, oA

(A)
(B)

i1 B} v Steq o aeilel 5 ST 3

DNA % wvs! @) to sfta & g sfla
#f zemeeatyd fdar wimar 81 37 DNA
@vEl B amTead: DNA aT8® GRT of
STTIT STTdT @

DNA ¥ @vel o aTed & JEraT &
AT Sftat & awter far e 8

DNA &t it & ater fam siar 8

(©)

(D)

140. oA W g TfereraeT JreuTd B TEd

?

(A Sa sifigEe

(B) SIATAT Usled
(C) o cafsal &Y T

(D) et &AT R

141. Df3rer1-asifovr wrafaa 2

(A) DR 5I S TR Horoo A
(B) @IfremEi duT IPRIE A

(C) amBHA

(D) ®ifdreT & ATER A

4139. Gene cloning is a process where

(A)

(B)

(C)

(D)

gene is cloned in an animal

fragments of DNA are
transferred from one organism
to-another usually carried on-a
DNA vector

fragments of DNA cloned in the
same organisms using carrier

DNA is cloned in plants

140. The percentage ratio of natality over
mortality is called

141.

(A)
(B)
(C)
(D)

Vital index
Population density
Total count of individuals

Fertility rate

Cytotaxonomy is connected with

(A)

(B)

(C)
(D)

Chemical  composition  of
cytoplasm

Cell organeiles and
Chromosome

Cytochromes

Shape and size of cell
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142. a9t a1 f6a w13em & siasfa smar 22 142. Sea mouse belongs to phylum

(A) B (A) Chordata

(B) W (B) Mollusca

© o 1 (C) Annelida

(D) Echinodermata
(D) soTSeiIEHeT
143. What is the correct formula of Hardy-

143. réf-dfsraef formr =1 71t g 7o 2 Weinberg law?

(A) p?>+2pg+q?=1 (A) p?+2pg+q?=1

(B) p?>+pq+q?=1 (B) p2+pq+q2=1

(C) pP?+2pg+q?=0 (C) p?+2pg+q2=0

(D) p?>+pg+q?=0 (D) p?+pg+q?=0
144. gt o1 89 are Sadh Aer 2 144. The fungal disease of poultry is

(A) el (A) Coccidiasis

(B) iR (B) Monilliasis

(C) ®RrgsT (C) Coryza

(D) wRe (D) Mareks
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145.

146.

147.

wafr uweidt & demyeit ot 3= & fore
3T TE | TS D912

A ft wft aen feRe

valifbefler wese 6t @R sifdet &

(B) wwmfia wrar Yaifbelt wesy Ht aR
#

(C) wafrr & Rf¥q weat $ @ 7
oifdreren o

(D) wwfia et $t vefter &

firafufya # ¥ 5w g afa o1 Fw
gare?

(A) s sifaarss
(B) sTsUTHARRAR
(C) wueTeifayt

(D) faemser aeivIss

sifRem a5t #, 3veThiew HTeT FiaT 3
A) IS sradtes

(B) ¥l sradte® &

(C) s srrius &

(D) WTFITTEA FANES S

145. Where  will

you look for the

sporozoites of the malarial parasite?

(A)

(B)

(C)

(D)

Salivary gland of freshly
moulted female anopheles
mosquito
Saliva of infected female
anopheles mosquito

Red blood corpuscle of humans
suffering from malaria

Spleen of infected humans

146. Which of the following causes cancer
of vagina?

147.

(A)

(B)

®)

(D)

Cadmium oxide
Diethylstibestrol
Afflatoxin

Vinyl Chloride

In the immune system, interferons are
a part of

(A)
(B)
(©)

(D)

Physiological barriers
Cellular barriers
Physical barriers

Cytokine barriers
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148. fr=ifafaa & & @l w1 dU=r wWEt 22

(A) g 3T &t B ot & fore e
foon & a1g AR & B & art
2l

(B) smriferrt &Y anffepew 39 www
gictet 9T T B

(C) foret witeit 6t erear farr ¥ At 2,
3°¢ UP g forane & w9 § "ibla
TRt St 21

(D) araTP ueTe A Wb I qUT §GA R
gl o g S §

149. ‘TSi=e 3o AT 7

(A) @a frflors $iesmrs

(B) sT33TIfA= b TRUATRATIS

(C) wfadte Amaf # vy a1

(D) wferte dtent & vy wiforene wmRE
150. ‘A’ 3

(A) @ Fareareft

(B) s Hle gwlar

(C) ©a upfi® enwameft

(D) u® mpfas Sleameft

148. Which of the following statements is
correct?

(A) Cocaine is given to patients
after surgery as it stimulates
recovery.

(B) Barbiturates when given to
criminals make them tell the
truth.

(C) Morphin is  often given to
persons who have undergone
surgery as pain Kkiller.

(D) Chewing tobacco lowers blood
pressure and heart rate.

149. What is 'Agent orange'?
(A) A biodegradable insecticide
(B) A weedicide containing dioxin
(C) Colour used in fluorescent lamp

(D) A hazardous chemical used in
luminous plants

150. 'Rotenone’ is

(A) a bioherbicide
(B) an insect hormone

(C) a natural herbicide

(D) a natural insecticide
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NOTE

This question paper consists of parts :

First Part : PHYSICS —1-50
Second Part : CHEMISTRY —51-100
Third Part: (A) MATHEMATICS —101-150
OR
(B) BIOLOGY
()BOTANY ~ —101-125

(i) ZOOLOGY —126-150

All questions are compulsory.

Indicate your answers on the OMR
Answer-Sheet provided.

1 mark is allotted for each correct answer.
No negative marking will be done.

Use of any type of calculator or log table
and mobile phone is prohibited.

While using OMR Answer-Sheet care
should be taken so that the Answer-Sheet
does not get torn or spoiled due to folds
and wrinkles.
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